SF3HE 5 A1 HBAE (HoAD : HRADHR)

RrHT4 HE R | s [ 55 (A) | B | & (B) | HE | & (A+B) HE Dk
JIHI 3T 2, 382 4 2, 785 7 2, 794 1 5, 579 8
JHPTHT— T H 983 3 922 1 841 -1 1,763 0
T — T H 562 —4 558 -9 560 -3 1,118 -12
P =TH 633 7 716 5 658 0 1,374 5
JHPTHTIU T H 472 — 500 —4 530 -1 1, 030 -5
P HT H 307 1 329 0 315 1 644 1
PR T H 280 1 352 0 353 -1 705 -1
FESEHT 196 -9 202 -1 218 —4 420 -5
A 373 0 457 -1 465 0 922 -1
T H 1,823 5 1,952 0 1, 980 -7 3, 932 -7
PIPTHT 329 3 344 4 328 0 672 4
T 883 4 950 1 942 8 1, 892 9
T —TH 275 4 357 1 399 4 756 5
BT — T H 311 -1 428 1 422 -3 850 -2
Al =T H 488 3 681 0 680 0 1,361 0
FHTIY T H 271 1 406 1 374 1 780 2
HrH 232 0 266 0 256 -1 522 -1
H] = 285 0 347 ) 336 0 683 -9
=K 444 -3 459 -6 476 -1 935 7
— Y KFNT—TH 0 0 0 0 0 0 0 0
— Y ARHM T H 31 2 43 0 42 2 85 2
G 105 1 125 -1 125 1 250 0
— Y KHTH 4 0 4 0 6 0 10 0
KH B 645 0 838 0 834 —4 1,672 —4
[E TN 4, 343 17 4, 858 17 4, 989 10 9, 847 27
IR 4, 400 14 4, 439 0 4, 488 3 8, 927 3
TR 1,313 —4 1, 449 -7 1, 483 —4 2, 932 ~11
B+ 5 0 7 0 7 0 14 0
BELHR—TH 865 1 782 -3 943 -5 1,725 -8
E+HR_TH 1, 068 -2 1, 082 -5 1,138 -3 2, 220 -8
ELHR=TH 831 5 792 -1 830 6 1, 622 5
ELARMNTH 689 4 700 4 709 5 1, 409 9
B LRI TH 690 -1 779 -1 697 -2 1,476 -3
ELHRANTH 0 0 0 0 0 0 0 0
B T 1, 769 5 1,819 -3 1, 805 1 3, 624 -2
Wy —T1TH 284 2 307 0 299 -1 606 -1
Wy T B 230 0 240 -2 236 0 476 -2
Wy b ="TH 428 5 441 3 460 -3 901 0
o EPUT B 675 5 696 -2 752 6 1, 448 4
Wy T B 396 -2 456 -3 484 ) 940 -5
IT—T1H 256 1 300 5 337 1 637 6

FEET T H 552 1 566 -1 626 0 1,192 -
T =T H 189 0 197 -3 245 ) 442 5
2 31, 297 77 33, 931 -5 34, 462 2 68, 393 -3

8 o TS BT 17 AR
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